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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 341 4.6 1.2 6 76.7 99.7
3 342 4.6 1.4 7 65.6 100
5 320 1.2 1.1 3 41.6 93.6
7 328 1.3 0.9 2 65.7 95.9
9 339 1.8 1.1 4 46 99.1
11 326 1.3 1.2 4 33.5 95.3
13 304 1.2 1.2 3 38.9 88.9
15 310 1 1.1 4 25.2 90.6
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June 2016 Unit 2 (non-calculator)

Foundation Tier Marks Comments
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Sticky Note

Candidates knew that they wanted to add the given probabilities and subtract that sum from 1. However, they were unable to list the decimals correctly, wrongly inserting 0s in this answer.
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Sticky Note

This candidate knew how to add 0.3 and o.4 correctly but could not deal with 0.7 and 0.25. They seem unaware of the significance of the decimal point and place value.
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Sticky Note

The candidate is not  aware that the value of a probability cannot be greater than 1.
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10. Sindhu has a bag of different coloured counters.
The colours of the counters are blue, yellow, red or orange.
Sindhu picks a counter at random from her bag.
The probability that she chooses a counter of each colour is given in this table.
What is the probability that Sindhu chooses a red counter?
Write your answer in the table.

Colour of counter

blue

yellow

red

orange

Probability

0-3

025

0-4
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Foundation Tier Marks Comments
11.(a) 41 B2 B1 for either 49 or 8 seen
11.(b) 8/14 (+ 1/14) Bl Sight of 8/14
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(b) Simplfy F + . 2]




Sticky Note

Adding the two numerators together and adding the two denominators together was a very popular wrong method.
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Sticky Note

Each of this collection of five answers shows only part-knowledge of the correct method used to add two fractions together. Also included is one which has some recall of division of fractions as the second fraction was wrongly turned upside down. 
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Sticky Note

This candidate knew to write the fractions with the same denominator but then added the denominators together.






11. (a) Work out the value of 72 -23, [2]
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You must show all your working.
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You must show all your working, 4]
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June 2016 Unit 2 (non-calculator)

. . v Marks Comments
Foundation Tier
Or (£)1200 — 0-25 x (£)1200
15. (Alun paid) 0-75 x (£)1200 v M1
(£)900 v Al FT ‘their derived (£) 900’ but not 1200.
(% age reduction =) [900 — 600]/900 x 100 v M1 | Accept33(%).
33 1/3 (%) v A1 | SC2 for sight of a final answer of 1/3.

Alternative method:
(% - %) + % x100% or equivalent M2
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You must show all your working.



Sticky Note

The 25% discount for single occupancy of a house was ignored in this answer.
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Sticky Note

This answer correctly worked out the  reduction in the cost of council tax as a fraction but the percentage equivalent was too approximate. 1/3 should be written as 33 1/3 % or as 33%






You must show all your working. [4]
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Sticky Note

The question asked for the percentage reduction in the council tax cost if both Alun and Ben were sharing the house compared with the amount paid by Alun on his own.  The saving of £300 should have been compared with £900. A frequent error was to compare the reduction in payment of £300 with £600, the amount paid if both Alun and Ben were sharing the house. So the percentage reduction was wrongly thought to be 50%.
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15. Tax is charged by councils on houses in their area to pay for many local services. This is called
council tax.

The council tax for Alun’s house is £1200 per year, provided 2 or more people share the house.
If only one person lives in the house, the council tax is reduced by 25%.
Alun lived in the house on his own.

If Ben had moved into the house with Alun, they would have shared the cost of the council tax
equally.

What would have been the percentage reduction in the cost of the council tax for Alun if Ben had
moved in?

You must show all your working. [4]
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